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QUESTION 1

Click the Exhibit A customer reports that they have recently lost connectivity to a remote site over a shared architecture.
Referring to the exhibit, what is the problem? 

A. The authentication method or key has been changed. 

B. The remote link is down. 

C. The remote router has been powered off. 

D. The remote site router has been configured for OSPF. 

Correct Answer: A 

 

QUESTION 2

Click the Exhibit. 
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Your Junos device is using the configuration shown in the exhibit. You notice that the 172.17.23.10/30 address is
incorrect and should be 172.17.23.9/30. 

What are two commands that would solve this problem? (Choose two.) 

A. [edit interfaces]user@router# set ge-0/0/2.0 family inet address 172.17.23.9 

B. [edit interfaces]user@router# replace pattern 172.17.23.10 with 172.17.23.9 

C. [edit interfaces]user@router# rename ge-0/0/2.0 family inet address 172.17.23.10/30 to address 172.17.23.9/30 

D. [edit interfaces]user@router# delete ge-0/0/2.0 family inet address 172.17.23.10 

Correct Answer: BC 

 

QUESTION 3

What are two valid actions for a routing policy? (Choose two.) 

A. discard 

B. next policy 

C. accept 

D. ignore 

Correct Answer: BC 

 

QUESTION 4

Which keystroke combination allows users to move the cursor to the beginning of the command line without deleting
text? 

A. Ctrl + w 

B. Ctrl + a 

JN0-102 PDF Dumps | JN0-102 VCE Dumps | JN0-102 Exam Questions                                3 / 4

https://www.pass4itsure.com/jn0-102.html
https://www.pass4itsure.com/jn0-102.html
https://www.pass4itsure.com/jn0-102.html


https://www.pass4itsure.com/jn0-102.html
2024 Latest pass4itsure JN0-102 PDF and VCE dumps Download

C. Ctrl + b 

D. Ctrl + u 

Correct Answer: B 

 

QUESTION 5

When configuring more than one archival site, which statement is true? 

A. The system will first attempt the transfer using the URL configured last. 

B. The system will transfer the configuration to each archival site. 

C. The system will not transfer to a secondary site unless the previous site fails. 

D. The system will transfer using secure copy protocol (SCP) before attempting FTP. 

Correct Answer: C 
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